INSTALLATION - SERVICE INSTRUCTIONS

i ] SERVICE BULLETIN

MAR W AN SIENTIER RIS ES B b

L L / INTEGRAL LUG NUT
765 South Pierce Avenue, Louisville, CO 80027

(303) 665-6901 / 800-525-1963 JULY 2, 1997
PART NUMBER : DESCRIPTION :
51527 STAINLESS STEEL INTEGRAL WASHER NUT, 5/8”-18 THREADS
41527 TITANIUM INTEGRAL WASHER NUT, 5/8”-18 THREADS
PARTS INCLUDED :
1-nuT

PRIMARY APPLICATION :
ANY APPLICATION WITH 5/8-18 THREADED DRIVE STUDS.
OPERATION PRECAUTIONS :
1) USe ONLY 6 POINT SOCKETS, 12 POINT SOCKETS WITH TIME WILL DEFORM HEX OF NUT.
2) Do NOT USE IMPACT WRENCH.
3) OCCASIONAL LUBE WITH MOLY BASED GREASE BETWEEN FLANGE AND WASHER.

4) NORMAL TORQUE 90-110 FT. LBS., BE AWARE THAT A HIGH FASTENING TORQUE CAN DEFORM THE WHEEL BEFORE YOU REACH THE DESIRED FT.
LBS.

o1514 1/8” HARDENED STEEL WASHER

'A
SMALL BORE (\
X~
RADIUS SIDE CHAMFERED SIDE
—PUSH WASHER ON INTERGRAL NUT AXLE FLANGE\
WITH ARBORE PRESS OR VISE BRAKE HAT %
(PROTECT WASHER WITH SOFT WHEEL \
MATERIAL IF USING VISE) <

Z, P @z

(U I

V)
N N N /
3/8 9/16 374 WASHER THICKNESS — N

ALUMINUM SNAP ON WASHERS MUST BE EQUAL TO OR

APPLY LUBE TO THIS AREA BEFORE GREATER THAN AMOUNT OF
SNAPPING WASHER ON STUD PROTRUDING FROM WHEEL

A




